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  Date:_____________________________
L1: Pythagorean Identities
1.
Determine the non-permissible values of x, in radians, for each expression.
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2.
Determine the non-permissible values, in radians, for the following equation.
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3.
Simplify each expression to one of the three primary trigonometric functions, sin x,
cos x, or tan x.
a)
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b)   cot x sin x
c)
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4.
Simplify each expression.

a)
2(csc2 x  cot2 x)



b)   cot2 x (sec2 x  1)
c)
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  5.  Use a graphing calculator to determine whether each equation might be an identity.

a)
sin2 x sec2 x  sec2 x  1


b)   
[image: image11.wmf]11

seccsc

1

+=

xx


6.
Simplify each expression, then rewrite the expression as one of the three reciprocal trigonometric functions, csc x, sec x, or cot x.
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b)   cos x  tan x sin x     
c)   sin x  cos x cot x
7.
Consider the following equation:   sec x  sec x cos x  1  sec x. Show that the equation is true 
for 
[image: image13.wmf]4

p

=

x


8.
Algebraically transform the Pythagorean identity cos2 x  sin2 x  1 into the equivalent identity cot2 x  1  csc2 x
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5. a) may be an identity   b) not an identity               6. a) cot x   b) sec x   c) csc x
7. answers may vary   8. answers may vary
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